
Chapter 6 Canvas Practice test – Answers 

1)  (𝑔 ∘ 𝑓)(𝑥) = 36𝑥 − 86 

2𝑎)  𝑓−1(𝑥) = √𝑥 + 4
3

      2b)  (𝑓 ∘ 𝑓−1)(𝑥) = 𝑥 

2𝑎 − 𝑖)  𝑓−1(𝑥) = √𝑥 + 4
3

      2a-ii)  (𝑓 ∘ 𝑓−1)(𝑥) = 𝑥 

2𝑏 − 𝑖)  𝑓−1(𝑥) = 𝑥3 + 7      2b-ii)  (𝑓 ∘ 𝑓−1)(𝑥) = 𝑥 

3a – i)  𝑓(𝑥 − 8) + 7 = 𝑒𝑥−8 + 7 3a-ii)  Shift right 8, up 7 

3b – i)  𝑓(𝑥 + 5) − 2 = 𝑒𝑥+5 − 2 3b-ii)  Shift left 5, down 2 

4a – i)   𝑓(𝑥 − 3) + 5 = 𝑙𝑜𝑔2(𝑥 − 3) + 2 4a-ii)  Shift right 3, up 5  4a-iii)  𝑑𝑜𝑚𝑎𝑖𝑛 (3, ∞) 

4b – i)   𝑓(𝑥 + 5) − 4 = 𝑙𝑜𝑔2(𝑥 + 5) − 4 4b-ii)  Shift left 5, down 4 4b-iii)  𝑑𝑜𝑚𝑎𝑖𝑛 (−4, ∞) 

4c – i)   𝑓(𝑥 + 3) + 6 = 𝑙𝑜𝑔2(𝑥 + 3) + 6 4c-ii)  Shift left 3, up 6  4c-iii)  𝑑𝑜𝑚𝑎𝑖𝑛 (−3, ∞) 

5a)  𝑥 = 7  5b)  𝑥 = 6  6)  𝑥 = −6  7)  𝑥 = 1 

8a)  𝑙𝑜𝑔2
𝑥3

𝑦5  8b)  𝑙𝑜𝑔2𝑥3𝑦5  9)  5 log(𝑥) + 3 log(𝑦) − 2 log(𝑤) − log (𝑧) 

10)  𝑥 =  𝑙𝑜𝑔8(24) ≅ 1.53  11)  𝑥 = 3 + 𝑙𝑜𝑔2(20) ≅ 7.32 

12)  𝑥 = 82  13)  𝑥 = 10   

14)  𝑥 = 6   (𝑥 = −4 𝑑𝑜𝑒𝑠 𝑛𝑜𝑡 𝑛𝑒𝑒𝑑 𝑡𝑜 𝑏𝑒 𝑖𝑛𝑐𝑙𝑢𝑑𝑒𝑑 𝑖𝑛 𝑦𝑜𝑢𝑟 𝑎𝑛𝑠𝑤𝑒𝑟 𝑎𝑠 𝑖𝑡 𝑑𝑜𝑒𝑠 𝑛𝑜𝑡 𝑐ℎ𝑒𝑐𝑘) 

15)  𝑥 = 6  16)  𝑥 = 𝑒   17)  𝑥 = 243 

  

 

 

 

 

 

 

 

 

 

 


